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Ex/Sans/PG/3.5E/75/2018

MASTER OF ARTS EXAMINATION, 2018
(2nd Year, 3rd Semester)

SANSKRIT

Course : XV/ E

[Asokan Inscriptions]

Time : Two Hours Full Marks : 30

The figures in the margin indicate full marks.

1— EÍFXPáFP&F¶FWðF] ÑF¦˜F ÒèÎFFO õF]ÞP;FÞF ¼WæFÎFF;FÜFF a PáFÑÜFF ˜F
õFÛFFÍFWÜFFO— 1×5=5

(=+) ÑF¦˜FÛFÛF]&ÜFõ¶FÛÚFFÎF]èFFõFÎFW i˜FF¶F]kÛFFõFUõF]j èFÙ¼õÜF =+XN»Fa:?

(&F) =W+ÎF =+FÞµFWÎF EèFX=+ÞF¡FX áF]PÛÙFÎFU;FeFÛFk ;F¶F:?

(;F) =W+ðF] EÎF]èFFõFÎFWðF] EèFX=+ÎF_ÑFõÜF ÎFFÛFXááFW&F: ¼_èÜF¶FW?

(fF) EèFX=+õÜF õ¶FÛÚFFÎF]èFFõFÎFFÎFFk =+: =+FáF:?

(‘~) EÙFÍÜFPæFù;F¶FFPáF=+FÜFFk =+õÜF ÒÍFFÎFÑFP‡FµF: HááFW&FX ÎFFPõ¶F
ÑF¦˜FÛFõ¶FÛÚFáFW&FW?

(˜F) ÂF¼èFÛF]&ÜFPèFáFFÎF]èFFõFÎFW õFFÞæF_ÊÜFW =W+ æÜFFÑF_¶FF EFõFÎFh?

(š) ·FÜFX¼èFÛF ]&ÜFPèFáFFÎF ]èFFõFÎF W = W+ ÙFPùÚFF aÞ¶FUÜFF: ÎF _ ÑF F
HPááFP&F¶FF:?
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2— õFkõ=_+¶F˜šFÜFF Ò¼UÜF¶FFÛF < 2½

EPõ¶F JæF õFkP&F¶FWÎF EPõ¶F JæF ÛF¤FÛFWÎF EPõ¶F PæFõ¶F¶FÎF— ÎF ˜F
õFæFk õFæFa¶F fFP©¶Fk— ÛFùFáF=W+ ÙFC ˜F PáFP&F¶Fk PáF&FFÑFPÜFõFk ˜FWæF—
EPõ¶F ˜F J¶F =k+ ÑF]ÎF ÑF]ÎF æF]¶Fk ¶FõF ¶FõF E»FõF ÛFFÍF[Þ¶FFÜF—

3— EF”~áFÚFFðFÜFF EÎF]æFF¼: =+¶FaæÜF:— 2½

õF=+áFW EÑFÑFPÞõFaæFW EõF— JõF ¶F] ÑFPÞõFæFW ÜF EÑF]k¦Fk— ¼]=+Þk ¶F]
&FX J¶Fk š]¼=W+ÎF æF ¡FÎFWÎF HõF©WÎF æF E¦F¶Fa E;FWÎF ÑFÞF=a+ÛFWÎF
õFæFk ÑFPÞ˜FP¡FÑ¶FF— J¶F ¶F] &FX HõF©WÎF ¼]=+Þk—

4— EÍFXPáFP&F¶FWðF] ÂÜFÛFFPêF¶ÜF P©ÑÑFÎFU =+FÜFFa— 2½×2=5

iõFX õFÜFÛFX æFX õFÍF ]j, iPõFáFF-PæF;F°-ÚFU˜FFj, ÍF kÛF¼FÎF,
Ek¶FÛFùFÛFF¶FF—

5— EÍFXPáFP&F¶FWðF] ·FÜF: ÒèÎFF: õFÛFFÍFWÜFF:— ¶FWðF] EÎÜF¶FÛF: õF]ÞP;FÞF
¼WæFÎFF;FÜFFa PáFÑÜFF ˜F áFW&FÎFUÜF:— 5×3=15

(=+) ·FÜFX¼èFÛF]&ÜFPèFáFFÎF]èFFõFÎFW HPááFP&F¶FõÜF ÍFÛFaPæF¡FÜFõÜF =+:
E»Fa:? EõÜF ÛFùF×+áFk P=+ÛFh? ÍFÛFaPæF¡FÜFPæFðFÜFW EèFX=+õÜF
ÑF]·FÑFFY·FFÎFh ÒP¶F =+: HÑF¼WèF:? 2½+1+1½=5

(&F) õFÑ¶FÛFÛF ]&ÜFõ¶FÛÚFFÎF ]èFFõFÎF W HPááFP&F¶FFPÎF EèFX=+õÜF
¡FÎF=+áÜFFµFF¶ÛF=+FPÎF =+FÜFF aPµF =+FPÎF? ÍFÛFaæF _PÊPæFðFÜFW
EèFX=+õÜF =+: HÑF¼WèF:? EPõÛFÎFh =+ÛFaPµF =+F EFõFÎFh
ÞF¡FõFùFÜF=+F:? 2+2+1=5

(;F) iiPÛF õFkfFW HÑF;F¶FWj < ÛFFPõ=+;FFYµFèFFõFÎFFÎF]õFFÞWµF iHÑF;F¶Fj-
èFÙ¼õÜF æÜFF&ÜFF ¼WÜFF— EPõÛFÎFh EPÚFáFW&FW HPááFP&F¶FF:
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iEPÛFõFF ¼WæFFj =W+? G¼k èFFõFÎFk õFÛÑFFP¼¶FÛFh GP¶F =+õÜF
ÑFPµ°¶FõÜF ÛF¶FÛFh? EõÜF ÛF¶FõÜF  P=k+ =+FÞµFÛFh?

1½+1½+½+1½=5

(fF) ÎFæFÛFÛF]&ÜFPèFáFFÎF]èFFõFÎFW HPááFP&F¶FFPÎF H˜˜FFæF˜FÛF”~áFFPÎF
=+FPÎF? ÍFÛFaÛF”~áFõÜF =+: ÑFÎ»FF:? ÍFÛFaÛF”~áFk =+»FÛFh
E=+FPáF=k+ ÚFæFP¶F? 1+2½+1½=5

(‘~) ¶F_¶FUÜFõ¶FÛÚFèFFõFÎFFÎF]õFFÞWµF ¡FÎF: =+áÜFFµFk =W+ÎF Ò=+FÞWµF
ÑFèÜFP¶F? =k+ ¼]ðÒ¶ÜFæFW‡ÜFÛFh? =+FPÎF EFPõFÎFæF;FFPÛFPÎF GP¶F?

2+1+2=5

___________
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